




LABC),6 =  (Axl6-‘)  +  (Bxl6-*)  +  (Cx16-?

=  ( 1 0 x . 0 6 2 5 )  +  (11 x . 0 0 3 9 0 6 2 5 )

+ (I  2 x .000244140625)

=  ,625 + 0 . 0 4 2 9 6 8 7 5  +  .002929687500

= .670898437500

~aiaoeii4~h-4 (10110.10111) = (?)2 iv

mnKamhd  1.1 (101 lo) 2 = (22),0  LLK

ml~aiaod1d 1.3 (. 10111) 2 = t.71 875),.

&&h  ~10110.10111~ 2 = (22.71 875),.

CT 105 (H)



. . (3886),. = (7456)*

1&6fh~  2.3 (2486) 10 = o),(1

16)2486

161155 LUY 6 t

-lS&tfW  11 = 8

2 LUY 9

: . i2466),o  = (9B6)

H H ,H H H H H H
E E E E E E E E
x D E C  X D E C  X D E C  X D E C  X D E C  X D E C  X D E C  X  D E C

0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 c
I 268,43J,456  I 16,777.216  1 1,048,576  I 65,536 I 4,096 I 2 5 6 I IO  I I
2 536.870.912  2 33,554,432  2 2,097.lSZ  2 141,072 2 8,192 2 512  2 3 2 2 2
3 805,306,368  3 50.331.648  3 3,145,728  3 196.608 3 12,288 3, 768 3 4 8 3 3
4 1,073,741,824  4 67.108.864  4 4.194.304  4 262,144 4 16,384 4 1.024 4 6 4 4 4
5 1,342.177,280 5 83,886,080  5 5,242,880 5 327,680 5 20,480 5 1 ,280 5 8 0 5 5
6 1.610.612,736  6 100.663.296  6 6,29,,456  6 393,216 6 24,576 6 1,536 6 %6 6
7 1,879,048,192  7 ll7,440,512  7 7,340,032 7 4S8.752  7 28,672 7 1,792 7 , 1 2 7 7

8 2,141,483,648 8 134,2,7,128  8 8.388.608 8 524,288 8 32,768 8 2,048 8 1 2 8 8 8
9 2.415,919,104 9 ,50,994,944  9 9,437,184  9 589,824 9 36,864 9 2 ,304 9 , 4 4 9 9
A 2,684,354.560  A 167,772,160  A 10.485.760  A 655,360 A 40,9M) A 2,560 A I60  A IO
B 2.952,790,016 B 184.549.376  B 11,534,336  B 720,896 B 45,056 B 2,816 B I76  B II
C 3.221.225.472 C 201.326.592  C 12,582,912  C 786,432 C 49,152 C 3,072 C 192  C I2
.D 3,489,660,928 D 218,103,808  D 13,631,488 D 851.968 D 53,248 D 3,328 D 2 0 8  D 13
E 3.758,096,384 E 234,881,024  E 14,680,06d  E 917,504 E 57,344 E 3,584 E 2 2 4 E I4

Hexadecimal F 4,026,531.840  F 251,658,240 F 15,728,&u)  F 983,040 F 61,440 F 3,840 F 2 4 0 F I5
Posi t ions 8 7 6 5 4 3 2 I
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khl”aethii  2 . 4  (6C4E5),6 = (?),o

i)1n011m~ 2 Hex.digit 5 luMR’nf/ 1 dfh 5

.a E I, 2 ,I 224

, 4 I, 3 I, 1024 +

I, C ” 4 ” 49152

II 6 I, 5 I, ’ 393216

44362 1

’ (6C4E5)
16 = (443621 jlo

m”aiWhii  2 . 5  (2486) = (?)10 16

w;1u~¶J = 2486
mwl1md -2

Hex.digit
9 h.&-l~ 3 id1 2304

a&l 182 -

Hex.digit 8 h&d 2 Gil 176-

CT 105 (HI 5
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11 10 9 8 7 6 5 4 3 2 1

diwma'n 1024 512 256 128 64 32 16 8 4 2 1

1 1 0 1 0 0 0 1 1 1

:. ~11101000111)2 = 1024 + 512 + 256 + 64 + 4 + 2 + 1

= (1863) 10

2. (15747) =8 (?),.

(15747j8 = 1x8'+  5~8~+7x8'+4~8'+  7x8'

= 4096 + 2560 + 448 + 32 + 7

= (7143),.

3. (1BE7),6 = (?),.

(lBE7) = 1~16~ + Bx16'f  E + 16' + 7x16'16

= 1~16~ + 11x16* + 14x16 + 7x1

= 4096+2816+224+7

= (7143),.

4. (64E5),6 = (?),.

(64E5),6 = 6~16~+  4x16*+  Ex16'+  5x16'

= 6x4096 f 4x256 + 14x16 + 5x1

= 24576+1024+224+5

= (25829),.

5. (6C4E5),e = (?),o  ~l'lslU~Ojl~~lalJLL~a3L~~OYl~~UWRndl~~~PafZ~~l5lJ

sii 1 (b.MmlTl9)

(6C4E5) = 6~16~+  CXI~~+  4x16'+  Ex16'+  5x16'
16

= 6x65536 + 12x4096 + 4x256 + 14x16 + 5

= 393216 + 49152 + 1024 + 224 + 5

= (443621),.

CT 105 (H)



Hex.digit  6 IUvJn~  5 iifh 393216

I, c ” 4 ,I 49152
+

,, 4 ,’ 3 I, 1024

,8 E I, 2 ,I 224

,I 5 I, 1 I, 5

44362 1

2&LflY  1

0 tukl  1=

. . . (327) 10 = (101000111)2

6.2 LlkJU  (327),.  ~~tijULA’U~7U  8

8[327

8(40 tmt  7

8E LU’Y  0

. ’ . (372) 10 = (507) II

CT 105 (H)



Mialln 6.1 (327) = (101000111)
10 2

101000111 (l&nYl4d  1)
- - -

5 0 7

'. . (327) (507)=10 B

6.3 ld&JU (327),.  b%htMJ~‘lU  16

161327

16120  Lffkt  7

16&t+lk+  4

. (327),. (147),e I

2 Lmt 1

' =

&W-l 6.1 (327),.  = (101000111)2

00010100011
-LI--

(MllYlJ~  1)

14 7

(327) = (147)10 18

(lBE7)
16

= (1,1011,1110,0111) 2

~1,101,111,100,111) = (15747)2 8

:. (lBE7) = (15747)16 8

8. WdiLIU (15747)8%lhLIY~lU  2 UR:LRll~lU 16

(15747) =8 ~1101111100111)*

(1,1011,1110,0111) =1 (lBE7),(1

(15747) =8 (lBE7b,e

9. (64E5),e d (?)*

164E5),8 = 1110,0100,1110,0101) 2

(la'ollYlJd 1)

(wnfld 1)

CT 105 (H) 9



10. (6C4E5),e = (7) 2

(6C4E5),e = (110.1100.0100.1110.0101)~

1:. (64E53 I(1 = (7) 8

W&I 9. (64E5),8 = (110,0100,1110,0101~

2(110,010,~ll.100,101~2 = (6234W8 (lGnmc(  1)

:. (64E5)
10 = (623451B

12. (6C4E5),6 = (?I 8

77nu'o  l0.(6C4E5) I.¶ = (110,1100,0100.1110,0101~*

~1,1o1,1oo,010,011,100,101~~  = (154234518 (wll3lJ~  1)

*. . (6C4E5),s = (1542345) 8

13. (100010101001~ = 0)2 10

~1000,1010,1001~* = (6A9),6

~%m%ff  2 Hex.digit 8 'lUM&ft  3 &h 2048

,, A " 2 " 160 +

I, 9 " 1 " -2

2217-

. '. (100010101001~2  = (2217),.

14. (37456) 8 = (7) 2

(37456)* = (11,111,100.101,110)* (lGl1md  1)

15. (112234) 8 = (7) 2

(112234)* = (l,oo1,010,010,011.100~2  (wmlfi  1)

10 CT 105 (HI



~BPI fiytuy~&~w~  udlunimm8u rjoiiunlRlnnii7u7  1 arijdlLtilfi~p

~dutunirfi~iwu~w 8 t-m"ounCnnClu7 1 dhilLYil?i~  6

9Yadi4  6.1  t100111)2  + (111001  1j2 - (100101)2  =7

100111

111)0011
+

10011010 i + 1 = 2-k 0 nab.l  I,-
100101

(
i+ i+ 1 = 3-I~in~Irl1thh4

1110101
)

:. (100111)* + (1110011~2  - ~100101~  = ~1110101)*2

ih3dNii 5.2 (15747j8 + (37456b8 - (123618  = ?

15747 7 + 6 = 13-k 5 nabl 1,
+

37456
i
4 + 5 + 1 = 10-b-i  2 nahl 1 r&.Gh

)
55425

-
1236

54167-

:. (15747j8 + (37456j8 - (1236)*  = (54167)*

6h.h~ 5.3 (9F98),e + (9A6) 16 - (659),6 = ?

9F98 8+6=14=E,
+

9A6
t
9+A = 9+10 =19-&3Yl~))1dlLihhi

A93E
)

-

659

A2E5-

. '. (9F98),6 + (9A6),6 - (659),6 = (A2E5),8

6. nlag~olnlau(ludl~  q

CT 105 (H) 1 1



1.11

11011

11011 +

11011

101.11101

:. (11.01112x  (l.ll)2  = (101.111011~

hh~i: 6.2 (350118 x (15)*  z 7

L 3501
X

1 5

22105
+

3501

57115-
. * , t3501ta  x (15$  = (571 15i1

ii?eh~  8.9 (A20B’),e  x (A61  = 1t6
A20B

X
A 6

3CC42
+

6546E

691322

. ’ . (A20f3),e  x (A8)  (691322)1* 16

12 CT 105 (H)



&i?bhc:  0.4 (691 322),e + (A61,(1  = 7

gp¶plai  A6 A20B

A6 x 1 = A6

A6x2 =  1 4 C

A6x3 = lF2

A6 x 4 = 298

A6 x A = 67C

A6 x B = 722

.  .  (691322),6  + (A6),6  =  (A2OB),@

CT 105 (HI 13



101001100

:. (10110111)*  + (10010101~*  = ~101001100)*

2. (110100011)*  + ~1111001J*  = 7

110100011
+

1111001

i 1000011100

:. ~110100011)*  + (1111001)*  = ~loooollloo)2

3. (111110001)*  + ~11101111)*  = 7

111110001
t

11101111

1011100000

:. ~llllloool)2  + ~11101111)*  = ~1011100000)2

4. (56723118 + (357218  = ?

567231
+

3572

573023

: . (567231j8  + (3572j8  = (57302318

5. (761)8  + (365j8  = 7

761
+

365

1346-

:. (761j8  + (365i8  = (1346) 8

14 CT 105 (H)



6 .  (643710j8  + (4567)*  - (32156718  =  ?

643710
+

4567

650477

321567

326710

’ (643710)8  +  (4567j8  - ( 3 2 1  56718  =  (326710j8.

7 .  (72EA),6  + (B46A),6 =  ?

72EA
+

B46A

12754
-

(72EA),6  +  (B46A),6 =  (12754),6. .

8. (A345C)  - (ABC),1  = ? J
18

A345C
-

A B C

A29AO

. ’ .  (A345C)  - (ABC)1 6 16 = lA29A0),6

9. (4096),6  + (B12) -16 (B02),6  = ?

4096
+

812

4BAB

802

43A6-

. (40g6),6 + (Bl -2),6  (B021q6 = (43A6),6

CT 105 (H)
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= (245) 10

(.497),.  + (245),. = (742)10

81742

8192  LUW  6

8p  LUW  4

811_LsIW  3

g LUW  1 I

= (1346)8BJ~~l&ii7(16UV6JYY0 5W2),o

LfqlU a Lfluurilclou~~~l~ouuoJu'o  5

(7611 = 7 x 82  + 6x8 + 18

= 440  f 48 + i

= (497) 10
(36518 = 3 x a2+6x8+  5

= 192+48+5

1 6 CT 105 [H)



7.  nlaauaav~lwaasTfMlI#  l’s complement

A -B = A + (-B)

91.  t-%hKhTaan~  Zy;pr\l  l ’s complement wwk+&?G3i-nZud  1 ua”aG

Lf&JMOIlURlJ  (B> A) (f+-ad~d  7.1)

PYaaehii  7 . 1  (lOO)*  - ( 1 0 1 0 )  =  ?2

l’s complement 910J  1010 &I  0101

1001
X

(h.hXfaww)

l’s complement YIOJ  1001 ZO 6110

. (1oo)2  - (lolo) = - (1 IO)* (wn&GhJ)

(4) 10 - (1o),0 = (-6),o

m”adld 7 . 2  (lOlO)  - (100)  =  ?2

l’s complement lIEI.  0100 %I  1011

1010
+

1011

i&G
(-

(Maw@)

0101

I
+

1

0110-

. . . (lOlO)* - (100)
2

= (I 10)~  (eraSwSL8uuan)

(lo),0  - (41 = (6)10 10

CT 105 (H) 17



7Jci7u?nrH7wR~~~~riorllur~oul~~riluRY~~~in?suoJ  complementLYY7lhU

1. (lllO)*  + (11112  = ?

1110
+

111

10101-

:. (lllO)*  + (11112  = (10101)2

2. (111001)2 + (1001)2  + (ill)*  = 7

111001
+

1001

1000010
+

111

1001001

:. (111001)2 + (lOOl)*  + (111j2  = ~1001001~2

3. (llOl)* - 11010)2 = 7

l'scomplement WlJ  1010~0  0101

1101
+

0101

( iooi 0010 0 (d6n-m)

\,
+

1

0011-
:. (llOl)*  - (lOlO)*  = (ll)*

rh~launi5was~ua7

1101
-

1010

11

CT 105 (H)



4. (lolol)2 - (10112 = ?

l's complement WIJ 00101 %I 11010

10101
+

11010
l

L 101111 01111 1 (Q6am)

+

10000

. =. (10101)2 -(101)2 (10000)*

rh~lcmirami~wm

10101
-

101

10000

5. (10000)* - (101) = ?2

l'scomplementll0J 00101 &I 11010

10000
+

11010

I
;01010 (i$Isdm)

01010L +
1

1011
-

'. (loooo)2 - (lol)2 = (loll)*

ihwhnim~nsmm

10000
-

101

CT 105(H) 1 9



6. (111001)2 x (lllJ2 - (100012  = ?

111001
X

111

111001
+

111001

111001

110001111

l'scomplementll09  OOOOO1OOO?iO 111110111

110001111
+

IIIIIOIII h

I
~110000110 (i&Tam)

110000110L +
1

110000111

: . (111001)2 x (ill)* - ~lOOO)*  = 1110000111)
2

20 . CT 105(H)  ’


